SuperDroid Robots

AuTONOMOUS ROBOT DEVELOPMENT AND SALES

OOPIC-ll/lI+ HARDWARE
(Qty and Iltems subject to change without notice)

PartQty | PartlD

4|WASHER, #2, LOCK TOOTH

4 MACHINE SCREW, #4-40, 1 3/4" LONG, PAN HEAD
12 MACHINE SCREW, #2-56, 1/2" LONG, PAN HEAD

2|WASHER, #6, NYLON

4|WASHER, #2, FLAT

4 MACHINE SCREW, #4-40, 3/4" LONG, PAN HEAD

4|CABLE TIE HOLDER 4-WAY, ADHESIVE MOUNT
12 NUT, #2-56, STANDARD

4|NUT, #4-40, NYLON ACORN

8/ WASHER, #4, FLAT

2 SPACER, #6, NYLON, 3/4" LONG

4 SPACER, #4, NYLON, 1/4" LONG

4|NUT, #4-40, STANDARD

4 SPACER, #4, NYLON, 1" LONG

6 CABLE TIE, NATURAL NYLON, 4" NOM LG,

4/ COLLAR, SHAFT, 1/8"

2 MACHINE SCREW, #4-40, 1" LONG, FLAT HEAD

OOPIC-R HARDWARE
(Qty and Items subject to change without notice)

PartQty | PartID

6/SPACER, #2, NYLON, 1/4" LONG, 1/4" OD
2 SPACER, #2, NYLON, 3/4" LONG, 1/4" OD
4/ NUT, #4-40, STANDARD
12 MACHINE SCREW, #2-56, 1/2" LONG, PAN HEAD
4 MACHINE SCREW, #2-56, 3/4" LONG, PAN HEAD
2 THREADED ROD, #2-56, ~1.5" LONG
2|SPACER, #2, NYLON, 1/2" LONG, 1/4" OD
4|COLLAR, SHAFT, 1/8"
4 NUT, #4-40, NYLON ACORN
2 SPACER, #6, NYLON, 3/4" LONG
2|WASHER, #6, NYLON
16 NUT, #2-56, STANDARD
8/WASHER, #2, LOCK TOOTH
12 WASHER, #2, FLAT
2|MACHINE SCREW, #4-40, 1" LONG, FLAT HEAD
6 NUT, #2-56, NYLON
4 CABLE TIE HOLDER 4-WAY, ADHESIVE MOUNT

6 CABLE TIE, NATURAL NYLON, 4" NOM LG,
1 MACHINE SCREW, #2-56, NYLON, 1" LONG, PAN HEAD

SuperDroid Robots, a Division of Team Half-Life Inc.
Copyright 2003




